plot raw data . N1

Y52
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1) look at the graph of L1 to L18
3{;312'%412
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Y11
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molded product size

2) What is your ideal?

MT M2 M3 M5
M,

3)slect a few that are close to your ideal
Select 2-3 items far from ideal

Signal factor: die size

4)|s the SN ratio that is close to the ideal graph more
larger? |s the SN ratio of graph which is far from ideal

more smaller ?  —=If not, review the SN ratio calculation

formula.

5) If they match, create a graph of factorial effects



Raw data plotting

1) Plot the results of the orthogonal table experiment on the graph from L1 to L18

L1 A T L9 N1
N2
N1
L_—8— oo gg N2
N1
L10 N1 L11 L18 N1
N2
N2
oN2

2) Calculate the SN ratio n and the sensitivity S from the data using the SN ratio formula

3)Select a graph that you think has good characteristics and confirm that it matches
the calculated SN ratio. Select a graph that you think has poor characteristics and
confirm that it matches the calculated SN ratio.

example large SN ratio : L11 L18 L2 small SN ratio: L1 L9 L10
straight line with high sensitivity : L11  those with low sensitivity : L2



(9)A graph of factorial effects
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There are some
pattern that priority
may be given to SN
ratio with sacrificing
sensitivity or priority
may be given to
sensitivity with
sacrificing SN ratio.



@draw a "graph of factorial effects"

Calculate the SN ratio for each level of A~H control factor

trol fact SN ratio
No contro’ factor average of 9 data
AlBIC|IDIE|IF|I G| H (
1 i (11 {1]1] =473 (average)
2 111212212122 BRI — ——
3 |1lilalalala]als __ factor ! Z J 4
4 1ilzl1l1l2l=2l2]|= 5765 ) R0 288 2 430 — 1.350
5 ilz1z121zlz|1 1| =55z E L 40510 | 53873 50 5A3 51,350
& 1 ala (1122 4g03 s 7oz | f 534591  s0915 51355
i 1y3f1|2]1]3]2|3] 5548 D 48781 £3 42 52113 51,350
2 1213121113114 5040 E AG F25 £ X200 50 06T 51850
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T Tl 2 T Tl a Tz 5100 G Asfn |/ Bazaz £2GT5 51850
2 lz0ilzlz12z11111301 5160 H 502y  45.205 £4.843 £1.358
15 |zlzl1 2] a1z 2| aae / Overall average 31352
14 2212131121113 BRI
15 2213112131211 ETET
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Check that everything is the same



@draw a "graph of factorial effects"

select optimum condition and worst condition

optimum
O condition
& I average
Z
7)) Z 1 2 3 1 2 3 WOI’St condition

factorA factorB factorC factorD factorH

1)Is the average value correct? X N /

v

2)Mark O (high levels of SN ratio) and O (low levels of SN ratio)

3) optimum condition - A1B3C1D3==-"-
worst condition - A2B2C3D2====""-



(10calculate the estimated gain

Ao 4AHa optimum

condition
@)
2 1 E average
L JA)
worst
c% 1 2 123123123

| | condition

factorA factorB factorC factorD factorH

gain= (optimum condition  sum of deviation from mean )
— (worst condition sum of deviation from mean )
= (AA+ AB+ Ac+ AD+= *+/H)
— (Aa+ AB+ Ac+ AD++ =+ H)



(10confirming experiment

make sample
under optimum condition and
worst condition

N2

calculate SN ratio

N2

calculate the confirmed gain



